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2008-09 District Competition

Match #22 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
A few of them were called metaphysical, like Ben Jonson and John Dunne, but most were courtiers writing light poetry. Robert Herrick, Thomas Carew, and John Suckling were in what group of poets, who in the English Civil War, supported Charles I? 

ANSWER: Cavalier poets

2.
The girls of this family own the DASH clothing boutique in Los Angeles, and the son is engaged to Adrienne from The Cheetah Girls. In 2003, esophageal cancer took the life of the family’s father, one of O.J. Simpson’s attorneys. The middle daughter made an infamous tape with then-boyfriend Ray J. It is difficult to ‘keep up’ with what Armenian-American family whose members are Kourtney, Khloe, and Kim? 


ANSWER: Kardashian sisters

3.
He briefly allowed openness during the Hundred Flowers period. The ‘Gang of Four’ was a scapegoat for problems with his Great Leap Forward and Cultural Revolution. Who overthrew the Nationalists under Chiang Kai-shek and established Communist China?

ANSWER: (Chairman) Mao Zedong or Mao Tse-tung (accept Zedong Mao or Tse-tung Mao)

4.
She will appear in the upcoming film version of Nine. She appeared in El Cid with Charlton Heston and as the femme fatale in Grumpier Old Men. She rejected the advances of Peter Sellers and Cary Grant. She won her Best Actress Oscar for playing Cesira (chay-ZEE-rah) in Two Women. What actress’ marriage to Carlo Ponti was delayed sixteen years since divorce was not permitted in her homeland of Italy?


ANSWER: Sophia Loren
5.
Also known as Cheadle’s or Barlow’s disease, symptoms include nosebleeds, liver spots, and bleeding gums.  Once common among sailors, treatment for it includes oranges, lemons, and limes.  Name this disease caused by deficiency of vitamin C.

ANSWER:
scurvy
6.
Eva Green declined to appear in this song’s video, and so Elena Anaya appeared in the video, which is set in Barcelona. Its single cover featured the artist in a suit and tie with a black band across his eyes. In its lyrics, the artist declares, ‘I’ll let you whip me if I misbehave.’ What is this #1 hit from 2006, appearing in the album FutureSex/LoveSounds by Justin Timberlake?


ANSWER: SexyBack

7.
This six-letter word comes to us from an Italian word meaning ‘outlaw.’ It is used by fighter pilots to refer to an enemy aircraft. What word goes with ‘one-armed’ in a slang reference to a slot machine, and refers to anyone who robs and steals? 

ANSWER: bandit
8.
This signer of the Airline Deregulation Act is the only full-term President to not make an appointment to the Supreme Court. He oversaw the creation of the Department of Energy and the Department of Education. The question, ‘Are you better off now than you were four years ago?’ was asked about what former Governor of Georgia that was President between 1977 and 1981? 


ANSWER: Jimmy Carter
9.
His poem, The Song of the Vermonters, 1779, was erroneously attributed to Ethan Allen. He wrote At Port Royal, 1861, which includes ‘The Song of the Negro Boatmen.’ What poet and abolitionist wrote ‘Barbara Frietchie’? 

ANSWER: John Greenleaf Whittier
10.
Corresponding to 7 or less on the Beaufort scale, it has closed surface circulation and has winds of less than 39 miles per hour.  Name this type of weather system that is less severe than a tropical storm.

ANSWER:
tropical depression
11.
Manitoulin Island nearly separates this body of water into two parts. Bays along it include Georgian and Saginaw. What lake is between the St. Clair River and the Straits of Mackinac, and is located on Michigan’s eastern border? 

ANSWER: Lake Huron
12.
THIS IS A 10-SECOND COMPUTATION QUESTION.  The weatherman predicted the probability of snow as 50% on Friday, 60% on Saturday and 70% on Sunday.  What is the percent probability that it will snow all three days?


ANSWER:  21%
13.
This novel’s protagonist has two friends: the hedonistic Doreen and the ‘Pollyanna Cowgirl’ Betsy, and tries to commit suicide by taking 50 sleeping pills. Esther Greenwood undergoes electro-convulsive therapy in what only novel by Sylvia Plath? 

ANSWER: The Bell-Jar
14.
In Windows 95, it was called VWIN32_FaultPopup (read as: v-win 32 underscore fault-popup) and the user could continue. After Windows NT, though, it meant the user had to reboot. Earlier versions of Windows had a black version, and beta versions of Vista had a red counterpart. What is this colorful message of doom? 

ANSWER: Blue screen of death

15.
Between this painting’s two central figures are a chandelier whose pulley is absent and a mirror in which the painter can be seen. One figure wears a black hat; the other a green dress. What is this painting by Jan van Eyck of a rich Italian merchant and his wife? 

ANSWER: The Arnolfini Wedding (accept ‘Marriage’ in place of ‘Wedding,’ and be generous in accepting answers that have Arnolfini and matrimonial words)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Any three-digit repeating number such as .357357 etc. can be written as 357/999.  Change the repeating three-digit number .054054 etc. to a fraction in simplest form.


ANSWER:  2/37
1B.
The Civil War battle of Chickamauga took place in what state? 


ANSWER: Georgia
2A.
Who wants to look like a White girl, but is raped by her father Cholly, in Toni Morrison’s The Bluest Eye?
ANSWER: Pecola Breedlove
2B.
The asthenosphere is below what rocky shell that includes the crust and upper mantle?

ANSWER:
lithosphere
3A.
What 2007 movie was an adaptation of Marianne Pearl’s memoir? 


ANSWER: A Mighty Heart
3B.
What seven-letter word means to cancel a debt, especially with reference to the spiritual debt created by sin, and comes from an Old English word meaning ‘to give up’? 

ANSWER: forgive
4A.
Walter Reed gained fame for fighting what colorful disease, spread by mosquitoes, that still causes 30,000 deaths a year? 

ANSWER:
yellow fever
4B.
What Treasury Secretary proposed giving new powers to the Fed to regulate non-commercial bank entities that lend money?


ANSWER: Henry Paulson
5A.
The Volga River empties into what largest inland body of water in the world?


ANSWER: Caspian Sea

5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Find the cube root of the quantity ½ + ¾.  Be sure to remember that you cannot have a radical in the denominator.


ANSWER:  The cube root of 10 divided by two
6A.
Fermions consist of the quarks and what other particle class, with spin of 1/2, that includes the electron?

ANSWER: lepton(s)

6B.
Five ugly models were selected by Vincent van Gogh for what painting, where all five are chowing down on a starchy supper? 


ANSWER: The Potato Eaters
7A.
What Christian denomination arose from the Bible Student movement of Charles Taze Russell, and is known today for publishing The Watchtower magazine and for refusing to observe holidays? 


ANSWER: Jehovah’s Witnesses

7B.
THIS IS A 30-SECOND COMPUTATION QUESTION. Take a rectangle with a width of X centimeters, a length of 4X centimeters, and a diagonal of the square root of 68 centimeters. What are the legs, in centimeters, of this triangle? 


ANSWER: 2 centimeters and 8 centimeters
8A.
THIS IS A 30-SECOND COMPUTATION QUESTION. There are two fractions whose difference is 34/55.  The first is X/5 and the second is 2/Y.  Find these fractions.


ANSWER:  4/5 and 2/11
8B.
In 1998, what state became the first state to hold all its elections by mail? 


ANSWER: Oregon
9A.
Consider the sentence: ‘I had thrown William the ball.’ What verb tense is that sentence in? 


ANSWER: past perfect or pluperfect
9B.
What is the first name of Madame Bovary in the Flaubert novel of the same name? 


ANSWER: Emma
10A.
What battle, fought on September 13, 1759, saw the death of British general James Wolfe and ensured British control of Quebec City and all of North America? 


ANSWER: Battle of the Plains of Abraham
10B.
What Polish astronomer was known for his heliocentric 1543 work, On the Revolutions of the Celestial Spheres? 

ANSWER: Nicolaus Copernicus
Third period, 15 toss-ups, 10 points each

1.
Deer have 24 of them while people have 56 of them.  They come in distal, intermediate, and proximal types.  The human thumb and big toe only have 2 of them while the other digits have 3.  Name these sets of bones at the ends of the hands and feet.

ANSWER:
phalange(s) or phalanx
2.
Charles d’Albret died at this battle, which led to the Treaty of Troyes, which led to the victor marrying Catherine of Valois. Fought on St. Crispin’s Day in 1415, at what battle did Henry V lead the English to a decisive victory over the French? 

ANSWER: Battle of Agincourt
3.
In 1998, this currency was reset, so 1,000 of the old currency is equal to one of the current. Since 2003, its value has been between 23 and 31 to the dollar. It is strengthening on the basis of oil price rises. One hundred kopecks are in what currency of Russia? 

ANSWER: ruble(s)

4.
This Shakespeare comedy does not end with marriages, but instead the Princess and her three ladies make the men wait a year and a day. What Shakespeare play begins with Biron, Dumain, and Longaville joining the King of Navarre for three years of study? 

ANSWER: Love’s Labours Lost
5.
This son of Haran was captured by Cherdorlaomer’s allies. He was the ancestor of the Moabites and the Ammonites, becoming so due to an incestuous union with his daughters. Who fled the destruction of Sodom, but had his wife turn into a pillar of salt? 

ANSWER: Lot
6.
THIS IS A 10-SECOND COMPUTATION QUESTION. To the nearest integer, what is the molar mass of silicon dioxide, given that oxygen’s atomic mass is 16, silicon’s atomic mass is 28, and its chemical formula is SiO2?

ANSWER:
60
7.
Its name comes from the name of a local Dena’ina chief whose name came from a Russian name. It was once described as ‘the worst kind of suburban sprawl.’ Despite having a population of only 5,469, it is the fourth-largest town in its state. Climate change forced its retirement as the starting point of the Iditarod. What city in the Matanuska-Susitna Borough was overseen between 1996 and 2002 by then-Mayor Sarah Palin? 


ANSWER: Wasilla, Alaska

8.
One occurred in 387 BC after the Battle of the Allia. Charles V’s troops committed another one in 1527. Geiseric of the Vandals led another in 455. What event occurred in 410, when Alaric let his troops ravage what was then the world’s largest city? 

ANSWER: sacks of Rome (accept equivalent words to ‘sack’)

9.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Find the difference between an interior and an exterior angle of a nonagon. 


ANSWER:  100 degrees (interior = 140;  exterior = 40)

10.
In 1976, its dimotiki variety became the official variety. Its 2,000-year-old koine variety can be understood by modern speakers, making reading of the New Testament very easy. What is this language spoken in Cyprus and in the city of Athens? 


ANSWER: Greek 
11.
Usually highly soluble in water, examples of them include betaines, Good’s buffers, Allegra, and most amino acids.  Name this German term for an electrically neutral compound that carries formal positive and negative charges on different atoms.

ANSWER:
zwitterion
12.
Her sisters Stheno and Euryale were immortal. She assumed her hideous form after Poseidon raped her in Athena’s temple. A mirrored shield was necessary to cut off her head. Perseus killed what Gorgon, whose gaze could turn someone into stone? 


ANSWER: Medusa
13.
After Johnny Torrio retired, he became leader of the South Side gang, and was the rival of Bugs Moran. He was in Miami on February 14, 1929, and so had nothing to do with seven killings up in Chicago. Who was convicted of not paying taxes in 1928 and 1929?

ANSWER: Al Capone
14.
Making up positions D, E1, and E2 of the Wiggers diagram, it is associated with the S2 or dub sound of the heart.  Its typical value is 80 millimeters of mercury.  Name this term for the lower part of blood pressure that refers to the heart relaxing after systole.

ANSWER:
diastole or diastolic
15.
He wrote the short story collection The Ways of White Folks and the poetry collection Fine Clothes to the Jew. Who wrote the poems ‘My People,’ ‘The Negro Speaks of Rivers,’ and ‘Dream Deferred’? 

ANSWER: Langston Hughes
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He toured in 1935 with Bennie Moten. After Moten’s death, he formed his own big band, the Barons of Rhythm. He appeared in Blazing Saddles as himself. What jazz pianist is associated with the songs One O’Clock Jump and April in Paris? 

ANSWER: Count Basie
2.
His birthday is still celebrated on January 25, 249 years after the birth of this author of Tam O’ Shanter. What poet’s ‘Kilmarnock volume’ is also known as the collection, Poems, Chiefly in the Scottish Dialect? 
ANSWER: Robert Burns
3.
It was suppressed by a 600-man militia led by William Shepherd. In response, Congress tried to expand the Continental Army, but replacement of the Articles of Confederation was ultimately needed. What was this rebellion in western Massachusetts in 1786? 

ANSWER: Shays’ Rebellion

4.
All points on one of these are equidistant from a focus and a directrix. Their eccentricity is always one, and it is formed by a right circular cone being intersected by a plane parallel to the side of the cone. What conic section is formed by most quadratic equations? 


ANSWER: parabola
5.
Types of them include Lame’s first parameter, Poisson’s ratio, and P-wave.  The three most common ones are bulk, shear, and Young’s.  Name this tendency of an object to be deformed that measures elasticity and is defined as stress over strain.

ANSWER:
modulus
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